iii 37cm

14m
) - I

The perimeter of a square 1s 84cm. What is the length of each side?

24cm

4lcm

Work out the perimeter of each of these quadrilaterals.

2cm b
8.3m
S5cm
- A
5 cm 4m 48m

13mm

a

d
Omm

0.51 km

13mm

Orange

Peter is struggling to work out the perimeter of each shape. He thinks there
are some lengths missing but Sally has already worked out the perimeters
correctly. What answers did she get?

a b ¢ 9.6cm

4cm 2cm

12cm 7.5cm

8cm

Find the perimeter of each shape. Explain your method.

b

a

2cm 16cm

\

5cm

16cm
12mm 12em /

10mm

Red

The perimeter of each figure is 30 m. Calculate the values of a, b and c.

73m b

a
39m
am 7.1m
bm
8.4m

5.8m c 52m

59m




